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GENERAL STUDIES (PAPER-III)

Time Allowed : Three Hours Maximum Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS
(Please read each of the following instructions carefully before attempting questions)

There are TWENTY questions printed both in HINDI and in ENGLISH.
ALL questions are compulsory.
The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must
be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space
provided. No marks will be given for answers written in a medium other than the authorized

one.

Answers to Question Nos. 1 to 10 should be in 150 words, whereas answers to Question
Nos. 11 to 20 should be in 250 words.

Word limit in questions should be adhered to.

Any page or portion of the page left blank in the Question-cum-Answer Booklet must be
clearly struck off.
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1. 3 ycedg & F ARe it wwa & a5 w@ a0 = (o e Fo) § wfmfem fhu mu ¥) swwa o
g 2017 ¥ Frafaa sfto who fo % uewa fifgagl w ot fowft Hifv)
(IM 150 w=at & Hifsm)

Enumerate the indirect taxes which have been subsumed in the Goods and Services
Tax (GST) in India. Also, comment on the revenue implications of the GST
introduced in India since July 2017. (Answer in 150 words) 10

2. T A9 W WG A geHd § TR we wig IR (Sfe fo dlo) fit wurdt wgfe @ e geredifa &
FRO WA adferaee =) fufa # 27 o =l & gwew # www difs)

(3W 150 7=t H <ifemm)

Do you agree with the view that steady GDP growth and low inflation have left the
Indian economy in good shape? Give reasons in support of your arguments.

(Answer in 150 words) 10

3. THiHd F Tl (e Tho o) fRW dr o FfY Ieure I wuia w0 A wemw 27
(IW 150 wr==1 | dife)

How far is Integrated Farming System (IFS) helpful in sustaining agricultural
production? (Answer in 150 words) 10

4. d-Wiaatcd &A1 ¥ N I § gfg F9 § v so-favees ofEem F gvE B afaer

whiferu | (IW 150 w=at 1 Fife)
Elaborate the impact of National Watershed Project in increasing agricultural
production from water-stressed areas. (Answer in 150 words) 10

5. S a3 F-fagm % a3 % w9 W e faddtm o go Wo whe @R ¥ dreE §
W I 60 TR @y ugen 9t (IW 150 w=t & difsrg)

How was India benefitted from the contributions of Sir M. Visvesvaraya and
Dr. M. S. Swaminathan in the fields of water engineering and agricultural science
respectively? (Answer in 150 words) 10

6. WA ! YA W F FANG H5 TH FH ) R S & AR IR FaNE FHEFT F) T2 FF TR

o g (IM 150 vl # )
What is India’s plan to have its own space station and how will it benefit our space
programme? (Answer in 150 words) 10

7. T 96 G, 918 98 94 B 1 A4y B, BAR [Eie % e vl 92 @dl § ¥ U £ 9 a2
WA R A G F g9 F, faRm et w1 gEen 30 ge, fvdwn g
(IW 150 w=at 1 difsm)

Coastal sand mining, whether legal or illegal, poses one of the biggest threats to our
environment. Analyze the impact of sand mining along the Indian coasts, citing
specific examples. (Answer in 150 words) 10
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8. wEl yWEl 3R @rlt % fou 36 @At 1 Rt w0 F e S @ sreavEE o 2 sgared
% wia Yo #1 fh yR iR - ahet % @y Sfa-Rew fe w1 e 27 smaet ¥ ged §
Y@ & fafie vl w ==t fifsg (IW 150 w=a1 # i)

Vulnerability is an essential element for defining disaster impacts and its threat to
people. How and in what ways can vulnerability to disasters be characterized?
Discuss different types of vulnerability with reference to disasters.

(Answer in 150 words) 10

9. H] ¥R HWR H ‘SHE-U-FAr W UEd @R AGRa Gl ) weEal ugen d -3
FEFdA (o $flo Tago) hit Yfirw WM 1 iz 59 T ¥ | ST (aEd) wfEd &5 F snaward
TG I TEEA UgEH H qfi-3TR FEEdis g P s @ e @ e i) gfr-aai
FEwdA & 79 B Freowfa w0 % IuEt B s=1t Al (W 150 w=at & <if¥w)

The banning of ‘Jamaat-e-Islami’ in Jammu and Kashmir brought into focus the
role of over-ground workers (OGWs) in assisting terrorist organizations. Examine
the role played by OGWs in assisting terrorist organizations in insurgency affected
areas. Discuss measures to neutralize influence of OGWs.

(Answer in 150 words) 10

10. HEsEH qiESE 1 87 T e & v 8 et st &) Fafa w0 3 98 e v swmh

B geal B (3 150 w=at & difsm)
What is CyberDome Project? Explain how it can be useful in controlling internet
crimes in India. (Answer in 150 words) 10

11. ¥ @ fen siman @ T wwmasf wafe & wrtfa &1 amem wrany guafia ofn unofiaa & stwl =
T fR S R 39 wR W Rogefi fifsm) (3| 250 w1 § difsm)

It is argued that the strategy of inclusive growth is intended to meet the objectives of
inclusiveness and sustainability together. Comment on this statement.
(Answer in 250 words) 15

12, IW-ITAF el & auH, o FE & Hed ¥, A% W YaUA R 9R 6§04 T g 2
THF T Fif) (I 250 T=41 # <ifom)

The public expenditure management is a challenge to the Government of India in
the context of budget making during the post-liberalization period. Clarify it.
(Answer in 250 words) 15

13. S famo woneft #1 AfiF guEl SR 3G WHER FR PH-HH § GURIHS Hed I3 T &7

(I 250 w=at | difsm)
What are the reformative steps taken by the Government to make food grain
distribution system more effective? (Answer in 250 words) 15

14, WR YU &5 1 FATE1 % FHIYH 8 YR TER g1 TS T ifd i afewn we it

(3W 250 w=a1 # <ifem)

Elaborate the policy taken by the Government of India to meet the challenges of the
food processing sector. (Answer in 250 words) 15
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15, e et 35 1 ST 35 TS T ) Y% R R ST W B S T T 37

(IW 250 W=7t # €ifsm)
How is the Government of India protecting traditional knowledge of medicine from
patenting by pharmaceutical companies? (Answer in 250 words) 15

16. Trarl % Siea gt #) 390 FE & fog @ el fre TR dema # aadt 27
(3| 250 =31 | dif)

How can biotechnology help to improve the living standards of farmers?
(Answer in 250 words) 15

17. watator & Gefie wifeufas 73 6 989 &uar i ghedn i gfemmn i) w3 fifsg fF e wen +
detqEntt forema (TEae aTEe) H A T GAT T FHoT B THFH] HE TR AEe 2|

(IW 250 w=at # <o)

Define the concept of carrying capacity of an ecosystem as relevant to an
environment. Explain how understanding this concept is vital while planning for
sustainable development of a region. (Answer in 250 words) 15

18. fREl sft sTEn WEYR WEN § AR A YEe weW Bl B | YEEeH $ AHa 7, W Hifs 7 wehe
AT WA R YER e el § HeE S| (IW 250 =41 # difom)

Disaster preparedness is the first step in any disaster management process. Explain
how hazard zonation mapping will help disaster mitigation in the case of landslides.
(Answer in 250 words) 15

19. ¥RG &R I T @ § ffufwg framan (Famo) sfufem (30 to fe wo), 1967 @R
o HEo To MW F HeeH ¥ gR AXFAR-UR FFH FI Alga H {1 | AHATEHR FSAT
7m0 Tttt oo (Frano) sfufam 1 faly +0 % frar ok sl ® == %[ q99 9d9m
g ofEw % wew #, uRadAl 1 favewm fifse) (IW 250 Ti==1 | <)
Indian Government has recently strengthened the anti-terrorism laws by amending
the Unlawful Activities (Prevention) Act (UAPA), 1967 and the NIA Act. Analyze the
changes in the context of prevailing security environment while discussing the

scope and reasons for opposing the UAPA by human rights organizations.
(Answer in 250 words) 15

20. -G sra § e @ % man s, @ gt % e e g g |
A Fae Th ¥ THA-HWR G F ARAR adE 3 R BR areh fafim g = wdem i
iy € Al F Afely W % e WA= Hie) (IW 250 w=a1 | <)

Cross-border movement of insurgents is only one of the several security challenges
facing the policing of the border in North-East India. Examine the various
challenges currently emanating across the India-Myanmar border. Also, discuss the
steps to counter the challenges. (Answer in 250 words) 15

* & %k
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